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Use the following constants and formulas when required /aJjb L A0 ci alaall g gl g addii)

a,=ra a.=vw : F.=ma, _ fs=usN
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The planet Mars rotates on its pole-to-pole axis, with angular velocity 7.1x107> rad/s.
What is the period of rotation Mars needed to complete one rotation?

24.6 I
12,0 h
36.8 I ‘
24.0 h _‘
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How many degrees correspond to 1 radian?

57.3

90.0

75.0

45.0°
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A point F has a location given in cartesian
coordinates, as shown in Figure.

How do we represent the position of point Fin
polar coordinates?

(r,0) = (V61 ,2.447 rad )

(r,0) = (V11 ,2.447 rad )

(1, 0) = (V61,0.876 rad ) ‘
(r,0) =(v11,0.876 rad ) -‘
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A8 iy (73,4 cm gl sl awl) o Guaall (ab) Sewdl sk
.0.56 m A jlal
a Camll (B Adal) @ 4351301 laka La

The length of the path (ab) as shown in the figure equal
73.4 cm , and the radius of the circular path is 0. 56 m.
What is the value of angel 6 in the figure?

1.31 rad

0.417 rad

2.40 rad ‘
0.767 rad -‘
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Physics\(Bridge) PHY-C-101 adiiall e siladl diall @

.S m/s aljall o Al e yu cuilS 1Y) 25 om okl cial QY g3 e al e

«2mss Tal Jadl 445 3 Ae puull La
& A belt passes over a wheel of radius 25 cm. if a point on the belt has a

speed of 5 m/s, what is the angular velocity of the belt?

20 rad/s Comes out/z_jall

20 rad/s Comesin/Jalall

2.5rad/s Comesout/z sl

2.5rad/s Comesin/Jaall
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In the following graphs, the object moves in a circular motion. In which of the
graphs the object moves with a constant angular velocity?
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Based on the definition of the center of mass, which point
on the figure is the center of mass of the set of four

homogeneous balls of the same material?
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The figure shows a rider stuck to the wall
without touching the Moor in the barrel of Tun at a carnival.

i W hich Ili:l!l?_l"ﬂ n ﬁu'rn:-cll:l. shows the forces a.-r:!inj-_l: on the rider™

)
/
t
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When can we consider that the center ol mass is the center of gravity of the body?

When gravitational force is constant
evervwhere throughout the object.

Aead) ol el asaa e 450 A0 5 68 580 Lasie

When gravitational force is not constant
everywhere throughout the object.

aadl el jal e o AU L8 dpiladl B g8 oS Laris

When the density is not constant.

Al sl aaad A0 e AR 0580 Lalic

When the object is irregularlv shaped.

Al aaadl 185 & o5 Lasic
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L 2 ) ol k!

DO s _ PHY-C-101

AN B s pa gh LS cp pall 42a aa 9=60.0 4y

:r ¥ H (1 t“
E E A particle is moving with speed veclockwise in a circle of radius
. : 1.28 m. At a certain instant, the magnitude of its acceleration is
“‘ ’,* 25.0 m/s*, the acceleration vector has an angle of 8=60.0",
b ™ o’ with the position vector, as shown in the figure.
o :_:_" = What is the velocity v ?

— +1.Eﬂmh#-iﬂﬂijﬁuiiﬁ-u1quﬁﬂrﬂ¥iqiUiﬁﬁﬁnﬂﬂ
;"‘H ; “-n-,_‘ £ Al daie pluasy 25,0 m/s? aswadl f Ll M 058 cilea Alial e
i L

f[.f;-.i:'__y.uh J'l.i.-l'-!

4.00m/s

5.26m/s

16.0m/s

1.60m/s
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The figure shows a top view of a spinning table with three identical
colored markers (a, b, ¢) on it. If we spin the table slowly, which of

the following forces provides the centripetal force required to keep
the markers in circular motion?

Static friction force/-sSeal) Jlsiay) 5 8

Normal force/as sasll 5 48

Gravitational force/asiall 5 6 -‘

Kinetic friction force/S_adl J1<3aY1 5 &
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In the polar coordinate system for circular motion, which

of the vectorsin the figure represents [ 7

(1)

(2)

(@) |

(3)
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A roller coaster slides in one of the theme parks. Which of the following figures correctly

represents the directions of the tangential acceleration and the radial acceleration
of the roller coaster ?
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a=(1.73 m/s)t — (3.0 m/s)¥
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A cvele wheel moves in circular motion as shown in the

figure. The acceleration of point P at the outside of the bicyele
wheel is given as Tollows:

a=(1.73 m/s)t— (3.0 m/s)¢

What is the angle between @ and vector P 7

150

30

180° }

50
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A vinyl record plays with a constant angular acceleration 0,25 rev/s®.
How many revolutions does the record make in 8.00 57

e A il ) & T

8.0 rev

2.0rev

05 rev

12 rev
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